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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This question Paper contains 50 MCQ type objective questions. Each question has four answer options
given, viz. A, B, C and D.

2. Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any combination
of more than one answer will fetch —% marks. No answer will fetch 0 marks.

3. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C, or D.
4. Use only Black/Blue ball point pen to mark the answer by complete filling up of the respective bubbles.
5. Mark the answers only in the space provided. Do not make any stray mark on the OMR.

6. Write question booklet number and your roll number carefully in the specified locations of the OMR. Also
fill appropriate bubbles.

7. Write your name (in block letter), name of the examination centre and put your full signature in appropriate
boxes in the OMR.

8. The OMRs will be processed by electronic means. Hence it is liable to become invalid if there is any mistake
in the quesion booklet number or roll number entered or if there is any mistake in filling corresponding
bubbles. Also it may become invalid if there is any discrepancy in the name of the candidate, name of the
examination centre or signature of the candidate vis-a-vis what is given in the candidate’s admit card. The
OMR may also become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

9. Rough work must be done on the question paper itself. Additional blank pages are given in the question
paper for rough work.

10. Handover the OMR to the invigilator before leaving the Examination Hall.
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1. The primary acceptor for CO,-fixation in
C,-plants is

{A) Ribulose bisphosphate
(B) Glycolate

(C) Phosphoenel pyruvate
(D) Triose phosphate

2. Whichoneofthe following cannotbe synthesized
directly from DNA?

(A) mRNA
(B) tRNA
(C) rRNA
(D) Protein

3. Which one is not a chemical mutagen?
(A) Nitrous acid
(B) UV-rays
(C) Acridine orange
(D) Mustard gas

4. The enzyme which synthesizes DNA from RNA
is
{A) RNA polymerase
(B) Reverse transcriptase
{C) Translocase

(D) Peptidyl transferase

5. The swollen axis of the pedicel on which floral
members are arranged is termed

{A) Pistil

(B) Receptacle
(C) Gynophore
(D) Anthophore

1. C,Bfew CO Aaferaarm 1 s =
(A) FRREEE R
(B) it
(C) TATTIATE AZFTSH
(D) RRETAEs

2, =il Wb DNA 3@t Fam Aaefe e
(A) mRNA
(B) tRNA
(C) rRNA
(D) cafta

3. @R T Hetrem
(A) =iz =giiFe
(B) wieraef 2
(C) WifFita Wy
(D) HFGIG oI

4. (@ THT RNA (40 DNA (0 33 =t 2
(A) RNA sfmae
(B) frert BmifEFebe
(C) GEs
(D) cAsoiRfEm G

5, Wﬂ%wa@r@i@sﬁmﬂm
S I

(A) TR

(B) *=Ar®
(C) TRmiEE

(D) e
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6. Which of the following enzymes is used to cut
DNA molecule in recombinant DNA technology?

(A) Phosphatase

(B) Ligase

(C) Ribonuclease

(D)} Restriction endonuclease

7. Which of the following fungi is not used as
food?

(A) Agaricus bisporus

(B) Agaricus campestris
(C) Morchella esculanta
(D)} Amanita phalloides

8. Prokaryotic cells do not have
(A) Cytoplasm
(B) Plasma membrane
(C) Nuclear membrane
{D) Ribosome

9. Polytene chromosome is found in which of the
following animals?

(A) Triturus

(B) Tradeschantia
(CY Ophioglossum
(D) Drosophila

10. Nucleolus is formed from which part of the
chromosome?

{A) Primary constriction
(B) Secondary constriction
{C) Telomere

(D) Chromomere
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6. Recombinant DNA eigférrs nfReSermaaf
asmﬁ DNA & Fi619 &) 50 202

(A) TAFG

(B) =TRgsiar

(C) TR

(D) GALTF rEiHeEEes

7. e IR S 4 R e @ e
(A) Agaricus bisporus
(B) Agaricus campestris
(C) Morchella esculanta
(D) Amanita phalloides

8. (aARmiEehT @r-a YT
(A) wRibiemEs
(B) @rer «wf
(C) e »wl
(D) AR

9. SIpa @A Afits 6w et o a2
(A) Triturus

(B) Tradeschantia
(C) Ophioglossum
(D} Drosophila

10. CEFIAITEITR (@ S (A Hefres e e
(A) aifEdm
(B) 5Tt im
(C) GrfmE
(D) EFISIRER



11. Jute fibre is a type of
{A) Phloem parenchyma
(B) Phloem fibre
(C) Trichome
(D) Xylem fibre

12. In human, ‘Down’s Syndrome’ is due to
(A) Trisomy of chromosome 21
(B) Trisomy of chromosome 13
(C) XXY genotype
(D) XO genotype

13. Deficiency of Vitamin C brings about
(A) Beriberi
{(B) Impotency
(C) Osteomyelitis
(D) Scurvy

14. Which hormone stimulates secretion of
pancreatic juice?

{A) Gastrin
(B} Durocrinin
(C) Enterocrinin
(D) Secretin

15, Gaseous exchange in the alveoli takes place by

the process of

(A) Simple diffusion
(B) Osmosis

(C) Active transport
(D) Passive transport

11. AGTS T G
(A) IR #ICETEIE
(B) FIIITE
(C) GiEgw
(D) G TG

12, AE CF0Y TIGA-aF oG’ (S =
(A) 2199 @RS T
(B) 13 9N (TSI Giaga
(C) XXY iz
(D) XO fEcrivia

13. eI C ~97 <rena 91 9%
(A) RFEER
(B) TWY
(C) wifZgmz
(D) #&

14. EREERSGHT AT gaEe @
(A) Ul
(B) waIfrfm
(C) “TafEm=
(D) FifE&Ha

15. wEfeess 9 IgeETe o R a-nma
AfeFam

(A) FTFE iviA
(B) wfe=yasl

(C) 7ifera «ifdg=n
(D) e sifde=n
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16. Sertoli cells are found in
(A) Primodial follicle
(B) Corpus luteum
(C) Seminiferous tubules
(D) Tunica albuginea

17. Which organ in our body is referred to as *Adams
apple’?

(A) Larynx
(B) Epiglottis
(C) Thyroid
(D) Pharynx

18. Which ene of the following is not a component
of phloem?

{A) Trachea

(B) Sieve tube

(C) Companion cell

(D) Phloem parenchyma

19. Thenumbers of chambersinthe heart of cockroach
is

{A) 13

(B) 14

(C) 10

(D) 8

20. Which one of the following is pnot a
compartment of respiratory duct of man?

(A) Larynx
{B) Trachea
(C) Diaphragm
(D) Bronchus

16. HratBifEr e siham o
(A) =RmEICTA SRR
(B) FAsitA oA«
(C) ERFEIRAkRTe
(D) FefreyeRfEms

17. ST <SR G SR ST ST’ 7w

=7
(A) =OifEs
(B) «Pisfo=
(C) <ZmEe
(D) =i

18. TIHA D GRITTH-93 Betimm w2
(A) B
B) P
(C) R
(D) Gy

19, SETHETR e eed AL 5
(A) 13
(B) 14
(C) 10
(D) 8

20. EN @G TLER EmIEE e Tm e
(A) FFAIE

(B) T

(C) Tye=m

(D) F=FH
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21. Actively swiming aquatic organisms in a body of
water are called

{A) Benthos

(B) Nekton

(C) Phytoplankton
(D) Zooplankton

22. Which one of the following is the carrier of
malaria parasite?

(A) Anopheles
(B) Culex
(C) Aedes
(D) Culiseta

23. Kala-azar is spreaded by
(A) Tsetse fly
(B) Sand fly
(C) Black fly
(D) House fly

24. Gill rot of carp is caused by
(A) Aspergillus Sp.
(B) Pseudomonas Sp.
(C) Branchiomyces 3p.
(D) Paecilomyces Sp.

25. Full form of BOD is
{A) Biological Oxygen Demand
(B) Biosynthetic Oxygen Demand
(C) Biogeochemical Oxygen Demand

21. GRS S e TIATS I e (0 9 (o
S

(A) @9

(B) G

(C) FiBIEmEsn
(D) FaArEo

22, WIEA @M MR A A
(A} Anopheles
(B) Culex
(C) Aedes
(D) Culiseta

23, T B HiE T =l
(A) GRFIR
(B) IR
- (©) TE
(D) rIE

24, T =T A5 G IR 2
(A) Aspergillus Sp.
(B) Psendomonas Sp.
(C) Branchiomyces Sp.
(D) Paecilomyces Sp.

25. BOD-47 «rat T2 %=
(A) e SEHEy e
(B) AT =iEe fbae
(C) IfErerahe ik e

(D) Biogeochemical Oxygen Dimension

(D) et e CamEw
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. 26. Which one of the following is not a green
house gas?

(A) Carbon dioxide
(B) Methane

(C) Ethylene

(D) Nitrous oxide

27. The unit of measurement of noise pollution is
(A) Decibel
(B) Ampere
(C) Kelvin
(D} Candela

28. Which one of the following is an example of free-
floating Pteridophyta?

(A) Azolla

(B) Dryopteris
{(C) Equisetumn
(D) Nymphaea

29. Who wrote the famous book “On the Origin of
Species™?

{A) Lamark
(B} Wallace
(C) Oparin
(D) Darwin

30. Fatsandlipidsarehydrolyzed by lipase to produce
(A) Fatty acid and glycerol
(B) Glycerol and glucose
(C) Glycerol and amino acid
(D) Fatty acid and amino acid
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26. AN @A e sy
(A) THATR TR
(B) fram
(C) Hefem
(D) AR ERS

27. e AR 9% 7=
(A) CBFEe
(B) wnifetars
(©) @fen
(D) @=TE=

28, Aitsa (i T SrFaF GRTsEng Thgmd
{A) Azolla

(B) Dryopteris
(C) Equisetum
(D) Nymphaea

29. f341% 92 “On the Origin of Specics” F17 FHw?
(A) =OIE
(B) ‘@A
(C) esifsm
(D) ©REE

30. =iErere, w6 e Fifirers R[iEs v@ Geg v
(A) Bitentie e fvwea
(B) faviee ¢ g
(C) Taree e wifeT =k
(D) = =S e e =5
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31. ‘Lock and key” hypothesis of enzyme action was
proposed by

(A) Michaelis and Menton
(B) Koshland

(C) Buchner

{D} Emil Fisher

32, Which one of the following is a chromoplastid?
(A) Proteinoplast
(B) Elaioplast
(C) Phaeoplast
(D) Amyloplast

33. Aggregates of lyphoid tissue present in the distal
portion of small intestine are known as

{A) Brunners gland
(B) Peyer's patches
(C) Rugae

(D) Plicae circularis

34, Cystoliths are chemically composed of
{A) Sodium carbonate
(B) Barium chloride
(C) Calcium carbonate
(D} Caleium oxalate

35. Colostrum secreted by lactation mother during
the initial days of lactation contains

(A) IgA
(B) IgB
(C) 1gG
(D) IgM

31, SermEE R e T gt B oA e
=

(A) TREHH IR B
(B) @i<=uie

(C) g

(D) «fif= i

32. e @A @rmiaioe
(A) caAfbmans
(B) <EIRSHT
(C) Frmiars
(D) =HIiECEaES

33, HUICER o1 S0 GATES FA TR SRS A
(A) TR

(B) CATEF A5
(C) =it -
(D) Tere A==

34. FrebiFY @ TRRRT SR e
(A) =D
(B) AfEmEEEs
(C) TEAPFIRFIHTAG
(D) IS

35. i3 ot g faofce @ sERm
s =, IS A

(A) IgA
(B) IgB
(C) IeG

(D) IgM
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36. Cells of pancreas that produce glucagon are
(A) Alpha cells
(B) Beta cells
(C) Acinar cells
(D) Gamma cells

37. Antibody present in maximum amount in the
serum is

(A) IeG
(B) IgM
(C) IgD
(D) IgA

38. The alkaloid reserpine is obtained from the roots
of which plant?

(A) Zinziber officinalis
(B) Adhatoda vasica
{C) Alstonia scholaris
(D) Rawvolfia serpentina

39. Cardiac muscles are
(A) Striated and involuntary
(B) Striated and voluntary _
(C) Non-striated and involuntary
(D) Non-striated and voluntary

40. Homologous organs support the concept of
(A) Divergent evolution
(B) Convergent evolution
(C) Progressive evolution
(D) Retrogressive evolution
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36. SHRGER g5 Sesimial e
(A) ST P
(B) Bt
(C) =nifFwia e
(D) stfart Gt

37. @wifeaRh aeaE Tawa M Y stentam
G

(A) 1gG
(B) IgM
(C) IeD
(D) IgA

38. Rl A Sormraf o B s srem
¢

(A) Zinziber officinalis
(BY Adharoda vasica
(C) Alstonia scholaris
(D) Rauvolfia serpentina

39, Zm-ciff Z&
(A) =L e AT
(B) w4 @ Qg
(C) =itz @ b
(D) W@ &feT

40, IEE O (@ YIRS TN IR
(A) woIa e
(B) =i Rada
(C) wateiifil e
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41. Conjugation in bacteria was discovered by

41, TFFERATS FAGL-9F SiEel oEw
(A) Lederberg and Tatum

(A) @RS e GG

(B) Griffith (B) féfy
(C) Jacob and Wollman (C) Tole & wai
(D) Cairns (D) GFaETH

42, Dormancy of seed is broken by the hormone
{A) Gibberellin
(B) Ethylene
(C) Indole acetic acid
(D) Abscissic Acid

42. e A TR TR 5
T (A) ReaRm

(B) 3fafFm

(C) TeE ertihesie

(D) =EFFT=Fe

43. Holandric genes are present in 43. @AAGS fEm 4
(A) X chromosome (A) X GEFICaE=
(B) Y chromosome (B) Y (&Fitaitam=

(C) Polytene chromosome (C) A e
(D) Lampbrush chromosome (D) ==#g CErltarsmTy

44. Arrangement of leaves on a branch is called

44, =R S #i Ao TeRIa s a9
(A) Venation

(A) PR

' (B) Vernation (B) SRGHA
(C) Phyllotaxy (C) af&om
(D) Inflorescence (D) AR

45. Foliaceous stipules are observed in
(A) Oryza sativa i
(B) Pisum sativiem

45, <t Soleie AreH T IS
(A) Oryza sativa
(B) Pisum sativum
(C) Brassica campestris
(D) Hibiscus rosa-sinensis

(C) Brassica campestris

(D) Hibiscus rosa-sinensis
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46. Fernandez—Moran subunit is seen in
(A) Lysosome
(B) Endoplasmic reticulum
(C) Mitochondria
(D) Ribosome

47, Painful menstruation is known as
(A) Amenorrhea
(B) Oligomenorrhea
(C) Menorrhagia
(D) Dysmenorrhea

48. Flowers which are pollinated by birds are called
(A) Entomophilous
(B) Orithophilous
(C) Hydrophilous
(D) Anemophilous

49, Painful urination is referred to as
(A) Gout
(B) Nephritis
(C) Dysuria
(D) Cystitis

50, Pannus formation occurs in
{A) Gout
{B) Rheumatoid arthritis
(C) Osteoporosis
(D) Osteoarthritis
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46, FTAFTEE-CIREM SY209=s (TS #iveT a1y
(A) FRFACE
(B) TEigEhe @bRreem
(C) WiGrE=Eam
(D) FERITEI

47. IFNEFIEEE-E IE
(A) SiCiEat
(B) wFTAEm
(C) Gt
(D)

48. (F-713% TR ARSIl AR g T S 0
(A) aroTRREH
(B) st
(C) ZRrgiRe=f
(D) =R

49. TEIWES TFI -
(A) sifEB
(B) oA
(C) eiEFieRm
(D) FriiEbA

50, S an G419
(A) TG4
(B) faEaibrae=iaiEia-«
(C) wFberriaim-g
(D) wPbewgRbA-q
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